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QUESTION 1

The NetApp E-Series system with a 32 Gb FC Host Interface Card (HIC) requires which type of fiber cable to connect to
switches or to connect directly to hosts extending up to 100 meters?

A. OM4
B. OM3
C. OM1
D. OM2
Correct Answer: B

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2773537

QUESTION 2

In which two locations would you find the WWPNSs for a Windows host? (Choose two.)
A. FC switch

B. host\\'s BIOS

C. Windows Device Manager

D. HBA vendor\\'s utility

Correct Answer: AD

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMP1532524 (7)

QUESTION 3

A customer wants to manage an E-Series system over a secure connection between the system and a server. During
implementation, you are asked to fulfill this installation requirement.

In this scenario, which three actions are required to complete this task? (Choose three.)
A. Disable the legacy management interface on the system

B. Disable all the system\\'s local user roles except admin

C. Import certificate authority signed certificates into the system

D. Import the system\\'s self-signed certificates into the system

E. Complete the certificate signing request on the system

Correct Answer: ADE
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QUESTION 4

You are setting up asynchronous mirroring between two E2860 systems.

In this scenario, which two prerequisites are required to complete the setup? (Choose two.)

A. Both the primary and secondary systems must be using the same subnets for mirroring connections.

B. Both the primary and secondary systems must have the same premium features licensed.

C. Both systems must be discovered by an Enterprise Management Window (EMW) or SANtricity Unified Manager.
D. The secondary system must have 2X the storage capacity of the primary system.

Correct Answer: BC

QUESTION 5

Which NetApp tool provides information on size, weight, acoustic noise, and power of NetApp E-Series systems?
A. Hardware Universe

B. Interoperability Matrix Tool

C. Config Advisor

D. Active IQ

Correct Answer: A

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2773645
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